
Google Calendar 
Location Puzzle

SOLUTION
1. Consider each person's (Emma, Steven, Gabe) events separately.
2. Convert the start time of the event to a letter via semaphore, and you will get three words: 

VINCENTES ON HAWTHORNE.

Day Emma Time
12 V 04:00
13 I 07:53
18 N 07:23
19 C 10:30
20 E 06:08
21 N 07:23
22 T 10:00
23 E 06:08
24 S 04:45

Day Steven Time
16 O 08:53
18 N 07:23

Day Gabe Time
11 H 07:45
12 A 07:30
13 W 03:08
14 T 10:00
15 H 07:45
16 O 08:53
17 R 09:15
18 N 07:23
23 E 06:08


